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(4) Numbers to the fieht indicate ryIkg.
(5) Draw neqilgbeled (Uggrams wherever
(6) Use of Npn-proerammable calculators is

Attempt anv three of the following;
What is Java Enterprise Edition (Java
Write a note on Multi Tire EE
List and explain the tasks that Serv
Explain the life cycle of servlet.
Write a servlet code to display
in tabular form.
List and explain four types

Attenrpt anv tbree af
Explain Cookie class
Write a servlet

i) Session ID
Write a servlet
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JSP scriptlet tag? How JSTL fixes JSP scriptlet shortcomings?
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4. Attempt qnv three of the following:
Explain benefits of EJB.a

b
c
d

Explain
Write a

Write a note on different types ofsession beans'

Iife cycle of a message driven bean using suitable di
stateless session bean code to represent

(Bookld integer, BookName String, Pages integer, Price

What is an interceptor? How an intelceptor is defined
to it?
What is Java Naming and Directory Interface?

Attempt anv three of the following:
What is Persistence? Explain.
Explain with suitable diagram architecture of
Write aJSP code to add guest feedback
suitable assumptions)
What is Hibemate? Explain Object
Explain the architecture of Hibemate

Write a JSP code to add
database. (Make suitable
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